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1 |deiEE 8.7E+1 87.2
2 |FEHR 3.5E+1 34.9
3 |EFR 1.0E+2 104.6
4 |EHE 1.9E+2 191.7
5 |MHEER 3.5E+1 349
6 |ILEE 7.0E+1 69.7
7 |BER 8.7E+1 87.2
8 |ZWE 3.0E+2 304.4
9 |HARR 2.0E+2 195.7
10 |HER 2.2E+2 2174
11 [HER 5.0E+2 500.1
12 | FER 3.0E+2 304.4
13 |[RREER 1.2E+3 1,195.9
14 [#E)IE 4.8E+2 478.4
15 |#iBg 2.6E+2 260.9
16 |EWE 7.8E+1 78.2
17 [RAIIIE 7.8E+1 78.2
18 |1BHE 7.8E+1 78.2
19 [ILELE 8.7E+1 87.0
20 |REHFR 2.8E+2 2827
21 |IRBR 1.9E+2 189.2
22 |E%MER 4.7E+2 4731
23 |BHE 6.0E+2 600.9
24 |=ER 2.8E+2 283.9
25 |HER 1.0E+2 104.3
26 |FRERAT 2.1E+2 208.6
27 | KBRFF 5.0E+2 4955
28 |EER 2.6E+2 260.8
29 |RRER 1.0E+2 104.3
30 |FnERILE 1.8E+2 182.5
31 |BIE 3.4E+1 342
32 |BRE 5.1E+1 51.3
33 |RILE 1.0E+2 102.6
34 |[EEBR 1.4E+2 136.8
35 |lLOg 1.5E+2 145.4
36 |EER 7.0E+1 70.3
37 |BNR 4 4E+1 43.9
38 |BiRR 1.3E+2 131.8
39 |EHER 7.0E+1 703
40 |$ERE 4.1E+2 410.6
41 [EER 1.4E+2 136.9
42 |RIGE 1.6E+2 157.9
43 |REXR 1.5E+2 147.4
44 | K7 R 7.4E+1 73.7
45 |EIFE 2.1E+2 210.6
46 |BRIEBE 4 3E+2 4316
47 iR 8.4E+1 84.1

£EH 1.0E+4 10,014.3
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